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SECTION -1
Attempt any two questions out of given questions from Section — I.

1. (A) From the following information of Nayan Ltd., ascertain internal rate of r
(1) Total Investment ¥ 200 lakhs
(2) Tax rate 30%
(3) Life of project 5 years
(4) Profit before depreciation and tax ¥ 60 lakhs per ann
(5) Present Value of Annuity Factor (PVAF) of T 1 at di

10% = 3.791, 11% = 3.696, 12% = 3.605. 10
(B) Raina Ltd. 1s planning for a capital budgeting pr are as follows :
Particulars . S
(T in lakhs)

Investment in plant 80

Plant installation cost 10

Working capital 0 30

Profit after Depreciatibn an PAT) 1 70

2 130
3 90

Additional Infi
(1) Atthe ife of the plant, it is expected that working capital will

be full and scrap value of plant will be NIL.
(2) t Line Method (SLM) for the purpose of depreciation.
(3) rate equals to 30%.

apital is 10%.
sent value of ¥ 1 at 10% rate :
0 1 2 3
esent Value 1 0.909 | 0.826 | 0.751

Evaluate the project acceptance with the help of Net Present Value (NPV)
method. 10
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2.  (A) Determine risk adjusted net present value from the following information of Rutva Itd. :
Particulars X Y Z
Net cash outlay (<) 5,00.000 | 5,80,000 | 6,80,000
Project life 5years | Syears| 35 years
Annual cash inflows () 1,40,000 | 1,90,000 | 2,10,000
Coefficient of Variation (C.V.) 0.4 0.8 1.

The company decides the risk adjusted rate of discount based on cmfﬁ@t 0

variation :
C.V. | Risk Adjusted Discount | Present value factor for 1
Rate (RADR) to S years
0 10% 3.791
0.4 12% 3.6
0.8 14% 33
1.2 16%

(B) Neha Ltd. is considering one of two mu
requires cash outlay of ¥ 4,00,000 and T 5

Project Q
o Cash inflow ;1::?; t:;
1 2,50,000 0.8
2 3,50,000 0.7
3 4,50,000 0.6
at 6% rate :
0 1 2 3
tValue |1 [0.943 | 0.890 | 0.840
ine :
ich project should be accepted ?
Which project is risky and why ? 10



10

*

3.  (A) Calculate missing figures in following table for Birva Ltd. :
Particulars Division — R | Division—S | Division-T
Sales (%) 3,60,000 4,50,000 6,00,000
Operating Assets (%) 1,80,000 (7 3,00,000
Operating Profit (%) (?) 1,50,000 (7)
ROI (%) 15 % 10 % 20 %
Minimum Rate of Return 10 % (7)¥v (7
Residual Income (?) 30,000 NIL
(B) State the essentials of an effective Responsibility Accounting.
4. (A) Simon Ltd. is organized into two divisions : Rahu and Ke

produces three products, L, M and N. Each product has an ex

Product

External Market Price per unit (3)
Variable cost of production per unit (I)

Direct Labour hours required per unit

Division Ketu has demand for 3,000 units
Rahu can’t supply the requirement,
market at ¥ 560 per unit.

M

N

5,000

3,000

What should be the
the total direct la
What are ben

h vail

(B) sferpricing ?
SECTION - 11

5.  Select the ri Iternative : (any 10)
(1)

oject should be accepted

ject 1s useless

Profit centre is responsible for maximizing

/(A) Profit of whole sector
(C) Profit of the centre
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.(B) Profit of product
(D) Profit of subsidiary

e of Return (IRR) is greater than Cost of Capital.
(B) Project should be rejected
(D) None of these

| for its use. If Division
a similar product from

,000 units of product M for Division Ketu, if
able in Division Rahu are restricted to 75,000 ?

10
10

10
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(3) If expected NPV(mean) = ¥ 1,20,000 and S.D. = ¥ 30,000, then coefficient of

variation will be

}A 25% (B) 20%
(©) 30% (D) 50%
(4) A responsibility centre whose performance is measured by its ROI is known as
A) Investment Centre (B) Market Centre
(C) Cost Centre (D) Production Centre
(5) PI=1, indicates
(A) Negative NPV »(B) Positive NPV
Eﬁﬂ) Zero NPV (D) None of these
(6) Controllable profit = .
(A) Revenue - Fixed Cost (B) Revenue - Controlla
‘(C) Contribution — Fixed Cost (D) Revenue — Variab
(7) Higher Certainty equivalent factor indicates :
_A) High Risk _(B) LowRisk
(C) Moderate Risk (D) None of

(8)

Benefit (Annualized Benefit) of the proj
(A) T 72.38 lakh
(C) T 56.96 lakh

If nominal discounting rate is 1

rate will be '

%)

(A) 11.32% B)
(C) 10.25% (D)
(10) Which of the fi IS n
(A) Better aluation
(L) Be agement (D)
(11) )s useful for

culating cost of a product.
f these.

Int Rate of Return (IRR) is
(A) Cut off rate ! AB)
(C) WACC (D)
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The NPV of Zeel Ltd.’s 3 years project is
Annuity Factor (PVAF) at 10% for 3 ye

d Present Value of
The Equivalent Annual

ing rate is 6%, then real discounting

9.25%
10.52%

nternal objective of transfer price ?

More motivation to managers
Better competitive position

performance of an enterprise.
ng performance of a department.

Hurdle rate
All of these



